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2 10.59 km = Down [Birkdale rd],

distence | turn right along [Kaipatiki rd]

10.59%km | yp to Glenfield Mall and back
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9.6km km = Down [Birkdale rd], turn
, = f P g right along [Kaipatiki rd] Take the side
12.56 km = Down [Rangatira rd], i b ) 3 =\ : path up to [Seaview rd] turn right onto
turn right along [Beach Havenrd] & EN : SO I ! - ,(] | [Stanley rd] onto [Roberts rd] and back
up to Glenfield Mall and back along Jar® \ g along [Glenfield rd] to the Club
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| [Glenfield rd] to the Club

distance

12.56 km

7.73 km = Down [Birkdale rd], turn
right onto [Eskdale rd] up the hill
and back along [Glenfield rd] to
the Club
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